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Tnpsc Aptitude & Mental Ability Model Questions Set 4

1. If 20% of A=B and 40% of B=C then find 60% (A+B)
A 65T 20% = B Lom)ILD B 65T 40%= CeTevflev (A+B) -65T 60% &ImesoT
a.30%0of C b.60% of C ¢ 75% of C d. None of these

2. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product we

get -7/12. What is the number?

(5 eGP 6T655TERN6TTT 5/2-60 GILI(HES! 6U(HLD CILI(HSSHMLICVET)IL 65T 2/3 28 Fal lp6vTTs:
-7/12 HleOL &G 6T6vfl6v SieuailflgHpm) 6T65sT 6152

a.-3/2 b. 3/2 c d.-1/2

3. A pie diagram is with dimension

Qeullp&glesor(h (pie) auemTLL G601 LIfILOMEBSTLD 61886016512

a.one b. three c. two d. four

4. (0.756 X Z ) is equivalent to

(0.756 X z ) &(& FIOLDMEUIG)| 618]?

a. 18.9% b. 37.8% C. 56.7% d. 75%

5. In how many years will a sum of money double itself at 18.75% per annum simple interest?

QU(BLSSIN (G 18.75% 6TesT 6T6rlW UL le eIlEHEHSH 60, QG TEMSLITETIS) 618865651

QU(HLMBIG66L @7l o ILIMELD?
a. 4 years 5 months b. 5 years 4 months

c. 6 years 2 months d. 6 years 5 months
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6. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,3347. The period (in years) is

€r5-30,00 61651 O\STENSHE(E), Dh600TIeM() 7% Fal (' 6Ll lp eNlHHSH 560 6185 6m60T
24655T(H561fl6v Fal (h 6ULllp €. 4,347 Sp(GLD.

a. 2 years b.2 V2 years C. 3 years d. 4 years

7. In an equilateral triangle whose side is 3v3 cm, the length of its altitude is

Q(H FLUES (PE&CHTETTTHS 6T LSS i6mey 3vV3 Q&5 616slled DHG6T BSSIWTHEH6T 6oy

6T60TLIG)|

a.45cm b.55cm €.103 cm d. 9.6 cm
8. Solve:

C bba Cab ac ab ac

&5

C bba Cab ac ab ac

a. bcacb b. babcc c. abcbc d. acbcb

9. A hemisphere and a cone have equal bases. If their heights are also equal, than the ration

of their curved surfaces will be

6(IH AHONEHEHTEM(LPLD, FaldLID 6T Sl ILISESSHS C\&MevsT(heTemesT. ieumnilest

2 WL &b eTesfled SHeumnilest suemenuiglitlest ellSHLD eTedTEnT?
a2 b. 2:1 c1V2 d.v2:1

5% .
10. IfE =1, then x is equal to

5% ) . ) .
el eT6uflev, X-60T LOSILIL| 6T6BTLIS

a.s b.2 c.0 ds3
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11. The age of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 11: 15. The

age of Sumit is

aflGsus HMID &S SpHW Qmeuflest auwigiserflest aflagb 2:3. 12 DpetoT(HSHEHSHES LIME
Sieuiserflest auwig) all& 1:15 eTesfl6v &HLSIGHSHl6tT euWI)

a. 32 years b. 42 years C. 48 years d. 56 years

12. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal

QM GOILILL QFTensWwTeTg 8% el ly aiggHlev 5 DpetsT(h&6ilev em. 10,080 SpHME|.

S|FEDI6VE SHITEOOTS.
a. Rs. 7,200 b. Rs. 7,000
c. Rs. 6,200 d. Rs. 7,300

13. X and Y and Z can independently complete a piece of work in 6 hours, 4 hours and 12
hours respectively. If they work together, how much time will they take to complete that

piece of work?

XY,Z 860115 560f16W 6p(H Gouemsvemul (Pigds 6 6sollGHL, 4 6sol GBI, 12 WevslEHL,
1058185 QameTdleTment. ceu(BHD C&ibE euGaiemevenl (Pipss sTeusuersy GhLD
61(h58185 Q&meteur?

a. 3 hours b. 5 hours ¢. 6 hours d. 2 hours
14. HCF of ¢ — d?,c? — cd

c? —d?, c? —cd - 651 5.QuUM6Y

a. c+d b. cd cct—d? d. c(c-d)

15. The product of two relatively prime numbers is 35. Their LCM is
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661N SO\ &HTETM| LIS 6T6va1861T6sT Q6tst(h eTevo1asertstt GILI(H&&H @& Tens 35 6Tevflev

Steumnlett &M @QLING) LOL b,
a. b. 8 C.35 d. 15

11 1 .
16. If =: =: == 2:3:5, then x:yz is
Xy z

1.1 1 535 erenfled xy:z 6T6TLI
Sy 235 y: &l
a. 2:35 b. 6:10:15 C. 5:32 d. 15:10:6

17. Find the volume and surface area of cuboid 16 m long, 14 m broad and 7m high

16 L5 [B6M(LPLD, 14 L5 D4&B6V(LPLD, 7 L 2 WIT(PLD Q& TETOTL SHEBTEFGITSHES| 65T H6BTH6T6Y LDHMILD

urliy &esst(HLlig.
a. 1568m3,868 cm? b. 1560 m3, 864 cm?
c. 1460m?3, 860 cm? d. 1320 m3, 850 cm?

18. A is twice as good a workman as B and together they finish a piee of work in 14 days. In

how many days can A alone finish the work?

A eT6tTLIGUTT B-6mMW &ML Ig6y|1D Q(HIOLMEIE FpLiLITg: Geuensvenw Q&wioum. (Heu(HLd
Caribgl 2ibs Geueneveniu 14 BILS6IT60 (WpILIMTS6IT. 6TeaTGou A L (KD DiHS

GouemevemiLl (Ple&s 615SH6M6BT HMTLSHET D4 (5LD?
a.n b. 21 C.28 d. 42
19. If @ is defined as x @ y = x*+ 2y, find the value of P if 4 @ 3@ p) =50

@ eteo1m CFWESlWTesTg X D y = x>+ 2y 67687 euenTWMISSHLILL(H, 4 D 3D p) = 50 616015

Q@&MH&sLILLLTeV, P -65T D&ILIL] &HT6v0T8:.

a.a b. 7 C.8 d. 125
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20. The largest 4- digit number exactly divisible by 88 is

88-60 GUGLILE FalgWl LO&LI QU BT6dT(E) Q6088 61650T 61512

a. 9944 b. 9768 C. 9988 d. 8888

21. A is B’s brother, C is B’s Father, D is C's Father. Then A is of D.

A etetTLIouT} B 6571 #@angyett. C stedtLiouly B ullett Hbems. D etsstieuly C ullett HbHems

6TedTMIM6L A 6T6dTLIGUT D Wil6dT

a. Grand mother b. Grand father c. Son d. Grand son
311 25 11 33
2.-X—+ ((=X—)+— =2
27 5 44" 5 15
1 2 126 101
. 1= b. = C.— d s—
a.1g 3 125 125
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